
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Year 6 Arithmetic 

Test 3 

Name : ____________________ 

Score : _________ out of 40 



 

 

 

  

 

7 x 9 = 

847 x 9 = 

4050040 = 4000000 + ________ + 40 



 

 

 

4125 + 5236 = 

7200 ÷ 2 = 

5

4

100 x 3140 = 



 

 

 

 

 

7524 ÷ 2 = 

2

5
 - 

4

15
= 

8244 + 703 + 565 = 



 

 

 

1500 ÷ 3 = 

12.34 + 2.8 = 

____ + 24 = 365 



 

 

 

1

4
 + 

1

3
= 

 

1 x 746= 

8123 - 4872 = 



 

 

 

 

 

 

7 x 4 x 5 = 

2,793 - 100 = 

3

7
 x 

4

5
= 

 

 



 

 

 

1.927 x 9 = 

29 - 6.741 = 

815 x 63 = 



 

92 + 22 = 

800 x 9 = 

3
1

2
 - 2

5

9
 = 



 

13 - 
4

7
= 

4 + 6 x 3 = 

463 ÷ 1000 =  



 

30

4 x 
1

9
 = 

1

5
 ÷  5 = 

2.1 x 30 = 



 

 
4

9
 x 45= 

6415 x 87 = 

3075 ÷ 41 = 



1120 ÷ 14 = 

80% of 315 = 

5712 x 43 = 


